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ion for Question Nos. 21 to 25.
gésut(;-‘:}c]fa“:"gllow%g passage carefully and answer the
questions that follow. ' _ )
Travel, in the younger sort, is a part of education; in

the elder, a part of experience. He that travelleth into a
country, before he hath some entrance into the language,
goeth to school; and not to travel. That young men travel
under some tutor or grave servant, [ allow well: so that
he be such a one that hath the language, and hath been
in the country before; whereby he may be able to tell
them what things are worthy to be seen in the country,
where they go, what acquaintances they are to seek.
what exercises or discipline the place yieldeth; for else
young men shall go hooded and look abroad little. Itisa
strange thing, thatin sea voyages, where there is nothing
to be seen but sky and sea, men should make diaries:
but in land travel, where in so much is to be observed,
for the most part they omit it; as if chance were Pitter
to be registered than observation; let diaries, therefore,
be brought in use. The things to be seen and observed
are, the courts of princes, especially when they give
audience to ambassadors; the courts of justice, while
they sit and hear causes.

21, One should visit the courts of princes when the

princes are

(a) dinning with ambassadors
(b) listening to ambassadors
(c) instructing the ambassadors
(d) talking to ambassadors

Who learns from travelling ?
(a) old persons (b) tutor
(c) young men (d) grave servant

Who tells about the things to be seen in the
country one is travelling ?

(a) young men (b) elder people
(c) tutor (d) stranger

What is NOT important for travelling in a country ?
(a) knowledge of the language of that country
(b) diary
(¢) company of a person who already knows

the place
) company of the family members
The grave servant accompanying the traveller
must have
(a) already visited the country of the travel
acquaintance with reputed persons

(¢) undertaken sea voyages
(d) knowledge of keeping diaries

Change the follo
sentence.

“The Institution is as bad as it could be.’
(2) The Institute is thoroughly bad.

) The Institute is so bad that we cannot |jye
§C) The Institute is too bad to say anything.

22,

23.

24,

25.

26.

wing sentence into a simple

‘
LTI

Select the word as an a propriate Meaning ¢
the given word ‘Vandal’ from the followiﬁ -
(a) One who destroys works of ar, -

(b) One who creates works of art,
(c) One who does not mix freely with
(d) One who is present everywhere,

W

27.

Others,
28. Choose the correct meaning of the Phrage
“Zero hour™. '
(a) 12 O’ clock at night.

(b) The hour when an operation begins.

(c) The hour when the sun rises.

(d) The hour when the sun sets.

29.  Find out the correct indirect narratj

on of the
following direct speech.
John looked at the Taj and said “How
magnificent!”
(a) John looked at the Taj and told that hoy,
magnificent it is.
(b) Johnlooked at the Taj and exclaimed with
surprise that it was very magnificent.
(©
(d)

John looked at the Taj and asked that how
magnificent.

None of the above
30.  Change the given sentence into passive voice.
Everyone loves him.

(a) Heis loved by all.

(b) He loves everyone.

(c) He was loved by everyone.
(d) Heis loved by everyone.
3L.Fill in the blank in the given sentence by
choosing the correct option.

Put the clock, it is twenty minutes fast.
(a) up (b) down

(c) off (d) back

Correct the followin expression.

Both he as wel] a5 higs sog were present.

(a) Both, he and his son, was present.

(b) Both of them he and his son were
' present.

(c) Both he and hig son were present.
(d) Both he and his son has been present.
Which of the followj
(a) Hopefu]

(c) Wholly

Choose the correct
wog‘d “interesting”

This book is inte
(a) auxiliary

C}l\\_ooge the correct Option
1s Pen .
Smuch _ "~ "pan that.

32,

33. ng is wrongly spelt ?
(b) Truely
(d) Awful

Part of speech/word class of the
in the following sentence.
resting,

(b) adverb

34,

35.

e Institute is not only bad but alsg good.

(a) cheaper o
b) more cheap

(©) the cheaper gdg g;leapest

-4-
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36.

37,

38.

39.

40.

41,

Vikas ranks 18t jn 3 class of 4
is his rank from the agt 2

a) 19 ®) 31
(c) 32 (d) 33

9 students, What

Statement : Should school education be made

free in India ?
Arguments: I. Yes, this js the only way to
improve the leve] of literacy.
II. No,itwilladdto the already heavy
burden on the exchequer.

Select the correct answer from the codes given
below : '

(a) Only argument [ js strong.

(b) Only argument I js strong.

(c) Neither argument I nor II is strong.
(d) Both argument I and II are strong.

Ratan is 40 metre South-West of Pawan. If Lalan
is 40 metre South-East of Pawan, then Lalan is
in which direction of Ratan ?

(a) West

(b) North-East
(c) South

(d) East

Which one does NOT belong to the followi hg group ?

" (a) Eyes

(b) Ear
(c) Tooth
(d) Chin

What is the median of the numbers 4.6, 0, 9.3,
-48,7.6,2.3,12.7,35,82,6.1,3.9,5.2 7
(a) 3.8

(b) 4.9

(¢) -5.7

(d) 6.0

The essence of decision making is

(a) Problem solving

(b) Choosing between alternatives

(c) Developing alternative course of action

(d) Monitoring

36.

3.

38.

39.

40.

41.

NJL-2 -1
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42. The following Pie-chart sﬁgws .daily hourly
" distribution of various activity (in degree) of
student. How much time (in %) does he spend

in game in comparison to sleeping ?

(a) 10
(¢) 25

(b) 20
d 30

43.  The study of temporal communication is known as

(a) . Proxemics
(c) Paralanguage

(b) Kinesics :
(d) Chronemics

44. Consider the following statements :
There are six villages A, B, C, D,EandF
Fis 1 km to the west of D
- Bis 1 kmto the east of E
. A'is 2 km to the north of E
Cis 1 km to the east of A
Dis 1 km to the south of A
Which three villages are in line ? :
(a) AC,B (b) A,D,E
(c) C,B,F (d) E,B,D

45.  The sum of the three prime numbers is 100, If

one of them exceeds another number by 24, then
one of the other number is ’

(a) 7 %/é?’

(c) 43
The Golden Rule is basic to every system of
ethics ever devised and everyone accepts it in

Some form or other. It is, therefore, undeniably
Sound moral principle.

Itinvolves the fallacy of

(@) Argumentum ag Populum

(b) Argumentum ag Verecundiam
(©)  Argumentum agd Misericordiam

(d) Argumentu'n_l ad Ignoratiam
n = 1 & &

46.

AR
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% ARy ger H A | T a (9, &) fﬂam%,-_,
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(c) 25 (d) 30
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47.

48.

49.

50.

51.

32,

53.

Which one of the following is NOT a rule
for estimatings the subjective probability of
outcomes of any decision ?

(a) Assessing utility

(b) Representativeness

(c) Availability

(d) Adjustment

Argument
All Indians are religious.
All Painters are religious.
- All painters are Indians.
It involves the fallacy of :
(a) Division

(b) Existential

(c¢) Undistributed middle
(d) Four terms

If in a certain code ‘DATE’ is written as

‘WZGV’, then which of the following code

would be written for ‘COME’ ?

(a) XLNV (b) LXNV
(¢) VNXL (d) "XLVN
What X in second figure ?

119 174 184

17 | 21 X |18 [23]24
(a) 26 (b)y 27
(c) 28 (d) 29

‘How many numbers from 11 to 50 are dwnsnble
by 7 but NOT by 32 o
(a) 2
(¢) 5

(b) 4.
d 6 -

A is richer than B, C is richer than A, Disricher |
" than C, E is richest than all. If they are made to

sit in the above degree of richest, who will have
the central position ?
(a A
() D

In a Zoo, there are rabbits and pigeons. If heads
are counted there are 200 in all and if legs are
counted there are 580 in all. How many pigeons
are there in the Zoo ?
(a) 90
(c) 121 (d)

(b) B
d C

(b) 110
130

47.

48.

49,

50.

51,

52.

<ich
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54,

55.

56.

57.

38.

59.

60.

61.

D

In which of the following fiec.ision m;lf?'"g style
Jow tolerance for ambiguity is foun -
(a) Analytical style (b) Conceptual style
(c) Directive style  (d) None of the above

According to “communication as interaction”
perspective, feedback is

(a) never intentional.

always intentional.

seldom useful.

sometimes unintentional.
In case of com
is higher in
(a) Centralized network

(b) Restricted network

(c) Problem oriented network
(d) Decentralized network

A sum of ¥ 12,000 deposited at compound
interest becomes doub]

e after 5 years. After
20 years, it will become

(a) 96,000 (b) ¥ 1,20,000
(¢) % 1,24,000 (d) % 1,92,000

Choose the odd one out.

(@) BD6 (b) FH 14
(c) JL22 (d) NP3

plex problems group performance

What are the barriers to effective communication ?

(a) Moralising, being judgemental and
comments of consolation :

(b) Dialogue, Summary and self review

(c)

Use of simple words, cool reaction and
defensive attitude
(d)

Personal stateme

nts, eye contact and
simple narration

A group effort of generatin

galternative ideas that
can help a manager solve

a problem is caleqd
(@) The Delphi technique

(b) Out of the box thinking

(€) The nominal group technique
(d) Brainstorming

Consider the Statement :

O Scientists believe in religion ?

es, because science, a professiop
I IilI(();:sbnot come in the way of fajth

. » becaug [

topet € reason and fajth do not g0
Codes -
(@) Qp

yl1 b

(c) Both | and [1 E : LA

d) Either orII
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65.
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s

If ROSE is-coded as 6821, CHAIR is coded as
73456 anid PRECH is coded as 96143, what will

be the code for SEARCH ?
{a) 214673 (b) 214763
(c) 264173 &7 (d) 216473

Which of th@fbl[&wing does NOT characterize

grapevine 7

(a) There is freedom to move in any direction.

(b) Itis likely to satisfy group members social
needs.

(c) Itis controlled by management.

(d) Itis largely used to serve the self interests
of people in it.

The context of face-to-face communication is
(a) Archetypes

(b) Synchronous

(c) Asynchronous

(d) Both synchronous and asynchronous

Given that

A is the Brother of B

C is the Father of A

D is the Brother of E

E is the Daughter of B

Then, the uncle of D is

(a) A (b) B
(c) C (d) E
| January 1995 was Sunday. What day it was
on | January 1996 ?

(a) Sunday

(b) Monday

(c) Wednesday

(d) Saturday

Which of the following statement is NOT correct ?

(a) All men are mortal.

(b) Some elephants have trunk.

(c) Nomanis perfect.

(d) All roses are red.

e number which is different from others.

(b) 64
(d) 144

Choose th
(a) 27
(c) 125

C

A B
[

62.

063.

64.

65.

66.

67.

68.

NJL-2-19

37 ROSE % 6821 @1 #1g 8, CHAIR &
FIE 73456 ¥ 3 PRECH &1 #18 96143 8, @
SEARCH & =i 91 81 7

(a) 214673 (b) 214763

(c) 2064173 (d) 216473

SAvarg (dargd) # frafafea 4 @ #2E-@

o Agi 8 7

(a) i foret ot fom & s Hir g A @

(b) e TWE gEEl ) AT STavERde #
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(d) = zqil e et 3 T~ TRl R *
fo7u saT9e T @ YZHd TS |

- % GEoT 1 ded g 3
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(b) THHICTH

(c) STgeahIicih

(d) T 3N AGeAHITE ar
gfe

AYTE B B I

cluarg A=

D 9§ 8 E 1

E A 8 B

A, DHRAMHAR ?

(a) A (b) B

() C (d E

| S0 1995 1 W o 4 &l | ekl 1996 =
a1 e o ?

(a) Taar

(b) HHAR

(c) gHar

(d) wiffam

HYIfIad § § hiH-81 FeH T TE 7
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(b) F® Bl & g Brelt 2|

(c) I3 wgsa qui AL 2|

(d) @i e AT B

I wEe & fi= gem = g |

(a) 27 (b) 64

(c) 125 (d) 144
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69. Consider the fol]owir}g statements regard_ing
major function/functlo.ns pf Ccommunication
within a group or organization,.

1. Tt acts of contro] member
2. It fosters motivation.
3. It provides e

behaviour,

motional expression of

feelings.
4. It facilitates decision making,
Select the correct answer using the codes given below :
Codes ;
(a) 3alone () 2,3 and 4
() 2and3

d 1,2,3 and 4

70. Ifina certain code COMPUTER
BNLOTSDQ, then which of the following code
would be written for SOFTWARE ?

(a) RNESVBQD (b) RNESABQD
(c) RNESABCD (d) RNESVZQD

IS written as

71. tShelt.act the one which is different from the other
ree.
(a) 398 (b) 579
(c) 885

72.  Another name for interpersona] communication is .
(a) Mass communication
(b) Dyadic ¢ommunication
() Triadic communication
(d) Permissive communication

73. In interpersonal communication the functions
of source-receiver are performed b

(a) Other individual (b) Each individual
(¢) Third party (d) Neutral party

74. A mother is 4 times as old as her daughter and
the father is 5 times as old as hjs dau[fv ter. The
sum of mother’s and father’s age is 135 years,
What is the age of daughter ?

(@) 10 years (b) 15 years

(©) 20 years (d) 25 years
75. Which term is used for communicatiop through
colours ?

(a) chromatic
monochromic schedule

(c) polychromic schedule
) chronemics

16. Anp individual’s ability to Communicate
effectively with others is called
(a) Interpersonal reframin
(®) Interpersonal dualism
(©) Interpersonal competence
(d) Interpersonal comfort

D

-10-

70.

1L

72.

73.

74.

75.

76.
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When you become “other oriented”, you

(a) consider needs, motives, desires of others
while maintaining your own integrity.

(b) encourage others to give you direction.

(c) take a submissive position in your
relationship with others.

(d) assume that others are always right.

Raman runs faster than Mohan, but not as fast
as Kareem. Kareem runs faster than Suman, but
not as fast as Abhinav. Who runs fastest ?

(a) Raman

(b) Mohan and Kareem

(c) Abhinav

(d) Suman

An overriding element of consideration in all
interpersonal communication is

(a) Flexibility (b) Abstraction

(c) Displacement (d) Context

For any two sets A and B, A - (A - B) equals to
(@ AnB (b) A-B
(c) B (d AuB

Which one of the following may be harmful in
terms of effective decision-making by the group
members ?

(a) Extreme cohesiveness

(b) Commitment for the goal

(c) Honesty and credibility

(d) Effective training and experience

The difference of median and mode of the
following data :

25, 33, 72, 65, 29, 60, 30, 54, 32, 53, 42,
52, 42, 51, 42, 48, 45, 47, 46, 33 is

(@) 3.5 () 4
(c) 2.5 (@ 3

In which century February will have 29 days
from the following ?

(a) 2213 (b) 2300

() 2215 (d) 2517

If the cost price of 10 shirts is equal to the selling
price of 08 shirts, then which of the following
is true for the transaction ?

(b) Loss of 25%

(d) Loss of 20%
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85. Choose the odd pair.
(a) Bottle — Wine (b) Ball - Bat
(c) Cup - Tea (d) Pitcher— Water

86. Each of the sides of a triangle is 4 cm less
than the sum of its other two sides. Area of the
triangle (in cm?) is

() 243 (b) 443
€) 242 d) 42

87. The first step in decision making is to
(a) establish priorities
(b) establish specific goals
(c) identify and define the problem
(d) determine courses of action

88. Two numbers are such that their sum, difference

and product are in the ratio 5:1:18. The difference
of their squares is

(a) 36

(b) 45
(c) 42

(d) 54
89. Ifx-2isafactorof polynomial x3 + 4x2~3x — 18,
then its other factors are
(@ x+2,x+3 (b) x=-3,x+1
() x+3,x+3 d x+1,x+2

90. That new student says that I am his favourite
professor and he must be telling the truth, because
no student would lie to his favourite professor.
Identify the fallacy involved in the passage.

(a) Complex question (b) Accident
(c) Petitio principii (d) False cause

91. Inatestin Mathematics, 20% of the students

obtained “First class”. If the Data are represented
by a Pie-chart, what is the central angle
comresponding to “First class” ?

(@) 20° (b) 36°
© 72 (d) 144°

2 T i i
ﬁgi r;o}al number of triangles in the following

() 12
~ @ 16
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93. Which factors influence the choice of 93, @Iy wfawfira EB‘IW%?%IW"' g ST
" communication partners ? AqR?
(a) Proximity, utility, loneliness (a) Qe g, m
(b) Utility, secrecy, dissonance (b) 3TN, T, ST
(c) Secrecy, dissonance, deception (c) Twdl, Fgafed, 84
(d) Dissimilarity, dissonance, deviance (d) o, arganfea, fagem
o4. If radius of a circle is increased in such a way 04, aﬁ@@ﬁﬁwﬁqﬁmmﬁ?ﬁ%%“@
that its circumference increases by 10%. Area gftfr g 10% aﬁq%iﬁ S | I Hl g}mﬁh‘(ﬁ
of circle will be increased by yfder sem ?
(@) 10% b) 12% (a) 10% (b) 12%
(© 21% (d) 24% © 21% (d) 24%
95. Fin-d out the missing number from the following 95. fm=fefaa wa d g &1 J1d hiie |
series. 0
3,5,5,19,7,41,9,? S S
(2) 61 ®) 71 (a) 6l (b) 71
(c) 79 (d) 69 (c) 79 (d) 69
96. The HCF and LCM of two numbers are 12and | 96. 31 &@aneit 1 HCF 3R LCM FA¥: 12 3 144
144 respectively. If one of the numbers is 36, 2 | 9 v G 36 R, d e a=
the other number is L
(a) 4 (b) 48 (2 4 (b) 48
(c) 72 (d) 432 (c) 72 (d) 432
97. Which of the following decision making [ 97. ﬁﬁ%ﬁgﬂﬁﬁmﬁﬁﬂmmﬁﬁaﬁ
technique involves structured rules for mmﬁ%mmﬁaﬁwm@%% 7
generating ideas ? g@ﬁ;ﬁ;
(a) Brainstorming @ SE TR
(b) Delphi technique (b) :
(c) Nominal group technique (c) I HHE Theireh
(d) Ordinal group technique (d) R T THAIR
98. The length of a parallelogram is 17 cm and its | 98, U THIAR =igyfsl 1 &g 17 &0, 2 ofR Swehy
width is 11 cm. One of its diagonal measures e 11dE.H. 2 lm@ﬁmﬁaﬁmzeﬁ_m,
26 cm. The length of the other diagonal is 2 ac-\@ eyt ot s &
(@ 12cm (b) I4cm @ 1284, (b) 14§,
() 16cm (d) 17cm (c) 16¥f. (&) 1783,
99. The mental function which does NOT help in | 99. &% ﬁq—aj AR Yo @ 9 T g
problem solving is e TE g ?
(a) Hypothesis formulation (a) wieFeqaT fregu
(b) Functional fixedness (b) WehmicHs: fmar
(c) Insight (c) IFgfee
(d) Means-end analysis (d) dreF-arer faveo
100. The expression 2x3 + x2_2x — 1 is divisible by | 100. & 2x3 4 x2 -2x -1 fawrsr 2
() 2x+3 (b) 2x+1 (@) 2x+3% (b) 2x+13
() 2x-3 (d) 2x-1 (©) 2x-39 (d 2x-1%
D ] ,_;’ g

Downloaded from: http://studymarathggarg:n%wy CamsScanner



